Precalculus Chapter 2 Review

22 find cot x.

1. Givensinx = _:;'and cosy = —
2. Givencos (::— 1':] = _%, find sin x.

Given cscx = —3 and tanx = 0, find cos x.
4. simplify: == 5. Simplify: 2= 6. Simplify: 222

tan xrTCcotx eC -1 iy |__—.'A.'_"

7. Factor and simplify: cot*x + 2cot?x + 1

8. Perform the addition and simplify: —— + —
9. Simplify; 1=¢scX 10. Simplify: ===
CSCX
11. Verify the identity: ..-:c: —tan®x = tanx 12. Verify the identity: —— — ——=1
13. Verify the identity: tan”xcos®x + cotxsin"x = 1
14. Verify the identity: sin x ( -+ =225 ) = 3
15. Verify the identity: secxcsc®x — cse”x = :i:d
16. Verify the identity: ———— = secx
17. Verify the identity algebraically ':E':“:i =2 + cot’x
18. Find all the solutions:2 cosx — 3 =0 19. Find all the solutions: cscx + 2 =0
20. Find all the solutions in the interval [0,27): cot®x — tan“x =0
21. Find all the solutions in the interval [0,27): sec”x = secx + 2
22. Find all the solutions in the interval [0,27); 3tan*2x — 1 =0
23. Find all the solutions: tan < = —_
24. Find all solutions in the interval [0,27): tan” fcscl = tan” @
25. Evaluate: sin 255° (use the fact that 255° = 2107+ 45%.)
26. Evaluate: tan 11'_ (use the fact that 11'_ = : -39
27. Simplify: i_tla:’ci;__‘i“’ciig 28. Simplify: sin 8x cos 2x + cos8x sin 2x
29. Given sinu = —%'D < u < 3:—'_ and cscv = ;_E,E = v < 7, find cos(u — v).
30. Simplify: sin (x — £} 31. Simplify: tan (2 + )

32. Simplify: cos(2x — v) cosy — sin(2x — y)siny

33. Simplify: sin [: - 1‘) + cos [1‘ + ?F]

34. Find all the solutions in the interval [0,27):cos2x + sinx = 0
35. Find all solutions in the interval [0,27): cos®x —cos2x =0
36. Given cos & = ~and sin & < 0, find tan 26.



Answers:
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